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Use a periodic table to
determine the identity and

charge of the two ions below.
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Below is a graph of successive ionization energies for one of the two
elements you identified in Part I. Determine which one it is and enter
the name in the blank of the graph title. Afterwards, label it with the
location of electrons that have been removed in each section of the
graph. A bank of options has been provided beneath the graph.

Successive lonization Energies of _Magnesium

26000
— 24000
g 22000
= 20000
= 18000
>
e
z
Ui 12000
- 10000
:.9.. 8000 2p electrons
ﬁ 6000
c 4000 | 3s electrons
o 2000

0

1 2 3 4 5 6 7 8

lonization Number

Bank: 2selectrons 2pelectrons 3selectrons 3pelectrons 3d electrons 4s electrons

In the space below, explain how you determined the identity
of the element for which the ionization energies are shown.

It can be determined that the graph shows the successive ionization energies of
magnesium due to the large jump in ionization energy between the removal of the second
and third electrons. The jump in ionization energy between those two electrons is almost
7,000 kJ/mol, which is much larger than the jumps between any other successive electrons
on the graph. This suggests that the element in the graph has two valence electrons and
the removal of the third electron breaks a complete octet. Of the two elements given in
Part I, only magnesium has two valence electrons.

Co IS\ons © 2021 PlayMada Games LLC. All Rights Reserved.




